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A N 2K PN T
1 2 & 4 6
am A2 I BAY7 foE BaY7 1% N
pm A K& for &F N3y K&2
am B BY7 %N Wwep I3k S
pm B2 B17 = Wdp L BER
am C#2 R&2 Rz LW Rz WIS
5y B 1,7 N - - B -
8 9 10 11 13
am A2 WIB BaT7 fo BaY7 £
pm A &F fo T N3k K&2
am B& &F AN Wwep 3k SHY
pm B3 BT B W W BER
am C#2 K52 K2 WU K2 o
5y B VN - - B -
15 16 17 18 20
am A2 EAYT foE EF AR
pm A for &F 3k K52
am B§2 .~ E% N W N3k S
pm B = W Wep BER
am C§2 Rz WIE Rz WU
5y 7 - - B -
22 23 24 25 27
am A#Z IR o BaY7 1% N
pm A &7 v N3k K&2
am B2 &F - W N3k SHY
pm B3 BT W W BER
am C32 K52 W K52 WIF
5y B 17N - B -
29 30
am A WIF BAYT
pm A &F foiF
am B& &F £
om B BT =
am C& "2 K"&Z
5y B 17N -
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